Weddings Gradualions Communions



Parties Corporate Affairs Picnics

Delivery & Setup available

<u>Premium Calering Menu</u>

Professional Staffing

Party Trays Each Tray serves 10 people.

Each Tray serves 10 people. <u>Wraps Tray</u> Made with Boar's Head Turkey, Ham and our very own Roast Beef. American, Swiss or Provolone cheese <u>Mini Hoagie Tray</u>

# **Speciality Trays**

Minimum of 10 people.

Deluxe Gourmet Sandwich Trays	\$9.95 pp
Served on choice of brickoven, multigrain or seeded semolina rolls.	
Tuscan- Grilled Chicken with fresh mozzarella, basil, roasted peppers and balsamic vinaigrette	е.
Verde- Grilled Vegetables with fresh mozzarella, Romano cheese and balsamic vinaigrette.	
Woodland - Smoked Turkey with lacey swiss cheese, lettuce & tomato	
Virginian -Virginia ham with cheddar cheese, lettuce & tomato	
Gatsby-Homemade Roast Beef with lacey swiss, lettuce & tomato	
Choose any combination arranged on a platter. Served with homemade chips.	
Mustard, mayonnaise, and specialty spreads served on the side for extra flavor.	
<u>Sloppy Joe Tray</u>	\$9.95 pp
Your choice of triple decker: Pastrami, Corned Beef, Turkey and Homemade Roast Beef	
Made with Swiss Cheese and served with pickles and homemade chips.	
Panini Travs	\$9.95 pp
Choice of Veggie, Cheese Lovers, Tavern Chicken, New Yorker, Tuscany Served with pickles and homemade chips.	

# <u>Hoagies by the foot</u>

3,4,5 and 6 foots available. \$16.95 per foot

Italian, American, Turkey & Cheese, Ham & Cheese ect...

Made with Premium Boars Head cold cuts and topped with Lettuce and Tomato

Onion, Pickles, Hot Peppers, Mayo, Mustand and House Dressing (oil, vin and seasonings) on the side.

\*Add \$3 per foot for roast beef, pastrami or cornbeef selections.

\*Add potato, macaroni or coleslaw for \$2 per person

\$19.95 per/foot:

The Brooklyn-Grilled Chicken, fresh mozz, basil, roasted pepper and balsamic vinaigrette The HBD-Grilled Chicken, prosciutto, sharp provolone, frsh basil, romain and balsamic glaze. #16-Fresh chicken cutlet, sharp provolone, broccoli rabe and topped with balsamic vinaigrette. #21-Mixed grilled veggies with sharp provolone, romano cheese and balsamic vinaigrette. \*Add potato, macaroni or coleslaw for \$2 per person.

#### PREMIUM CATERING FROM HOGBACK DELI!!

Ask to speak with a catering specialist and remember we can make anything!

Hogback Deli Rt.130, Bordentown NJ 08505 (609)324-1210 www.hogbackdeli.com/hbb Award Winning Jumbo Party Wings Available in Buffalo, Garlic Buffalo, Jalapeno Buffalo, Honey BBQ, Teriyaki Sesame and Habanero. Buffalo wings are served with celery sticks, homemade chunky blue cheese dressing and are available mild, medium, hot or INSANE (50) Wings- \$45.00 (100) Wings- \$90.00 Chicken Fingers Boar's Head Crispy fingers are served with your choice of honey mustard or BBQ sauce Buffalo fingers are served with Bleu Cheese 1/2 Tray (28pcs) Full Trays (56pcs) <sup>1</sup>/<sub>2</sub> Tray.....\$42.00 Full Tray......\$84.00 <sup>1</sup>/<sub>2</sub> Tray Buffalo......\$56.00 Full Tray Buffalo......\$112.00 Fried Chicken Served with our famous Coleslaw, dinner rolls and your choice of fresh pressure cooked Idaho potatoes or mashed potatoes. 16 piece ......\$29.00 *32 piece* ......\$54.00 Fresh Vegetable Platter Nibble without guilt! We've chosen the season's freshest garden veggies and arranged them on a platter. Served with ranch or bleu cheese dressing. \$36.00 (10-15 people) • \$46.00 (25-30 people) • \$60.00 (35-40 people) Bruschetta Platter Diced plum tomatoes topped with fresh mozzarella, red onion and basil in an olive oil and vinegar dressing. Served with garlic crostini. \$36.00 (10-15 people) Cheese & Pepperoni Platter An array of domestic and imported cheeses beautifully arranged on a tray with sliced pepperoni. Includes assorted crackers and toothpicks. \$43.00 (12-15 people) \$53.00 (25-30 people) \$68.00 (35-40 people) Fresh Fruit Tray A rainbow of seasonal fruits, sliced fresh for your tray, served with vanilla yogurt for dipping. \$36.00 (10-15 people) • \$50.00 (25-30 people) • \$70.00 (35-40 people) Assorted Breakfast Tray Includes a tray of Assorted Bagels - Mini Muffins - Mini Danish, Mini Croissants and Assorted Pastries. Paper goods and Condiments accompany all orders \$4.95 pp Fresh Fruit add \$2.00 per person Continental Breakfast Buffet Includes a tray of Assorted Bagels - Mini Muffins - Mini Danish, Mini Croissants and Assorted Pastries. Juice - Brewed Decaf and Regular Coffee (Tea & Hot Water Available Upon Request for additional charge) Complete set up with all paper goods and Condiments \$7.95 pp Fresh Fruit add \$2.00 per person Hot Breakfast Buffet

Scrambled Eggs - Bacon - Sausage - French Toast Sticks - Home Fries

# PREMIUM CATERING FROM HOGBACK DELI!!

Ask to speak with a catering specialist and remember we can make anything!

Also includes a tray of Assorted Bagels - Mini Muffins - Mini Danish, Mini Croissants and Assorted Pastries Juice - Brewed Decaf and Regular Coffee (*Tea & Hot Water Available Upon Request for additional charge*) Complete set up with all paper goods and Condiments \$9.95 per pp (10 person minimum) Fresh Fruit add \$2.00 per person

We proudly serve New England Premium coffee!

# <u>Ala Carte Menu</u> <sup>1/2</sup> tray serves @ 10 people. full tray serves @ 25 people

# Scrumptious Salads

Add croutons: 1/2 trays \$3, full tray \$5

full tray- \$35.00
full tray- \$58.00
full tray- \$58.00

# **Entrées**

Meatballs in Marinara Sauce served with rolls	½ tray- \$40.00	full tray- \$80.00
Italian Sweet Sausage in Marinara Sauce served with rolls	1/2 tray- \$40.00	full tray- \$80.00
Italian Sweet Sausage with Peppers and Onions served with rolls	1/2 tray- \$40.00	full tray- \$80.00
Homemade Roast Beef with Gravy served with rolls	½ tray- \$60.00	full tray- \$120.00
Roasted Turkey Breast with Gravy served with rolls	1/2 tray- \$50.00	full tray- \$95.00
Chicken Breast Parmigiana	1/2 tray- \$45.00	full tray- \$90.00
Eggplant Parmigiana	1/2 tray- \$40.00	full tray-\$80.00
Eggplant Rollatini	1/2 tray- \$45.00	full tray- \$90.00
Kielbasa & Sauerkraut	½ tray- \$40.00	full tray-\$80.00

### Sautés

Pasta additional \$20 for 1/2 tray and \$40 for full tray

Chicken Francaise	½ tray- \$45.00	full tray- \$90.00
Chicken Scampi	<sup>1</sup> /2 tray- \$45.00	full tray- \$90.00
Chicken and Broccoli	1/2 tray- \$45.00	full tray- \$90.00
Chicken Marsala	1/2 tray- \$45.00	full tray- \$90.00
Chicken Florentine	1/2 tray- \$45.00	full tray- \$90.00
Chicken Santorini	1/2 tray- \$45.00	full tray- \$90.00
Country Chicken	1/2 tray- \$45.00	full tray- \$90.00
Chicken Cordon Bleu	1/2 tray- \$45.00	full tray- \$90.00
Chicken Saltinbocca	1/2 tray- \$45.00	full tray- \$90.00
Jumbo Shrimp Scampi	1/2 tray- \$65.00	full tray- \$155.00
Jumbo Shrimp Imperial	1/2 tray- \$65.00	full tray- \$155.00
Jump Shrimp & Scallop Scampi	<sup>1</sup> / <sub>2</sub> tray- \$70.00	full tray- \$165.00

#### Pasta

Penne Pasta or Linguini w/Marinara Sauce 1/2 tray- \$30.00

#### PREMIUM CATERING FROM HOGBACK DELI!!

Ask to speak with a catering specialist and remember we can make anything!

full tray- \$60.00

Penne ala Vodka Vodka Rigatoni Fettuccini Alfredo Baked Ziti Veggie Lasagna 1/2 tray- \$35.00 full tray- \$70.00 full tray- \$70.00 full tray- \$70.00 full tray- \$70.00 full tray- \$70.00

# <u>Hot Buffet</u> (Minimum of 20 people)

Your choice of 3 Meat Entrées and 2 Side Entrées served with dinner rolls, butter and	a choice of Greek or
tossed salad	\$14.95 pp

Your choice of 2 Meat Entrées and 2 Side Entrées served with dinner rolls, butter and a choice of Greek or tossed salad ......\$12.95 pp

All necessary paper and plastic-ware include. Chaffing wire racks available upon request. Stainless steel chaffing dishes and Sterno available at an additional cost.

# Meat Entrées

Homemade Roast Beef with gravy Roasted Turkey Breast with gravy Meatballs in marinara sauce Italian Sweet Sausage in marinara sauce Italian Sweet Sausage with peppers and onions Pressure Deep Fried Chicken Oven Roasted Lemon Chicken Barbeque Chicken Chicken Breast Parmigiana Chicken Fingers with honey mustard sauce Vodka Rigatoni Chicken Marsala Chicken Francaise Chicken Scampi Kielbasa and Sauerkraut

#### <u>Side Entrées</u>

Italian Mixed Vegetables Linguini with Marinara Sauce or Butter and Romano Cheese Pencil Points with Marinara Sauce Oven Roasted Lemon Potatoes Mashed Potatoes with Gravy Pressure Fried Idaho Potatoes Homemade Potato Salad Homemade Macaroni Salad Homemade Coleslaw Athenian Style Green Beans Broccoli Green Beans with butter and garlic Peas and Carrots Corn

#### Include one of these choices for an additional \$2.00 per person:

-Chicken and Broccoli -Chicken Cordon Bleu -Fettuccini Alfredo with Chicken or Italian Sweet Sausage -Chicken Florentine -Chicken Saltinbocca

Include one of these choices for an additional \$5.00 per person: -Jumbo Shrimp Scampi -Jumbo Shrimp &Scallop Scampi -Jumbo Shrimp Francaise

#### PREMIUM CATERING FROM HOGBACK DELI!!

Ask to speak with a catering specialist and remember we can make anything!

-Jumbo Shrimp Imperial



**PREMIUM CATERING FROM HOGBACK DELI!!** Ask to speak with a catering specialist and remember we can make anything!